KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

Form ACO-1 September 1999 Form Must Be Typed

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License # 6861	API No. 15 - 065-22826-0000 ORIGINAL
Name: RON S OIL OPERATIONS, INC.	County: GRAHAM
Address: RT 1 BOX 194	SE NW SW Sec. 24 Twp. 9 S. R. 24 East X West
City/State/Zip: PENOKEE KS 67659	1747 feet from S/ N (circle one) Line of Section
Purchaser:	
Operator Contact Person: RON NICKELSON	icet nom E / (v) fencia ona/ Line or Section
Phone: $(\frac{785}{})$ 421-2409	Footages Calculated from Nearest Outside Section Corner:
Contractor: Name: A & A PRODUCTION	(circle one) NE SE NW (SW) Lease Name: COLLEGE 24 Well #: A-1
License: 30076	Field Name: GLENDALE SE
Wellsite Geologist: RON NELSON	Producing Formation: LANSING/KANSAS CITY
Designate Type of Completion:	
	Elevation: Ground: 2442 Kelly Bushing: SSION Total Depth: 4010 Plug Back Total Depth:
_XOilSWDSIOWTemp. Abd.	Amount of Surface Pipe Set and Cemented at 253' @ 258' 16 sacks
Gas ENHR SIGW	Multiple Stage Cementing Collar Used?
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth set DV @ 2202'
f Workover/Re-entry: Old Well Info as follows: CONSERVATION DIVISION	If Alternate II completion, cement circulated from 2202 to surfa
Operator: WICHITA, KS	feet depth to w/ 420
Yell Name:	Drilling Fluid Management Plan Htt 11 Ett 7.9.0%
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)
Deepening Re-perf Conv. to Enhr./SWD	Charita 4000 400
Plug BackPlug Back Total Depth	Fuanoration
Commingled Docket No.	Dewatering method used
Dual Completion	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No	Operator Name:
	Lease Name: License No.:
3-22-02	Quarter Sec TwpS. R East West
ecompletion Date Recompletion Date	County: Docket No.:
INSTRUCTIONS: An original and two copies of this form shall be filed with the Kansas 67202, within 120 days of the spud date, recompletion, workover Information of side two of this form will be held confidential for a period of 12 107 for confidentiality in excess of 12 months). One copy of all wireline logs at TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells.	or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. I months if requested in writing and submitted with the form (see rule 82-3- and geologist well report shall be attached with this form. ALL CEMENTING
I requirements of the statutes, rules and regulations promulgated to regulate erein are complete and correct to the best of my knowledge.	e the oil and gas industry have been fully complied with and the statements
1/21/1/2011	
gnature: Fall State of Sec. 20:00	KCC Office Use ONLY
le: Date: Da	Letter of Confidentiality Attached
bscribed and sworn to before me this $\frac{29}{day}$ day of $\frac{AUGUST}{day}$	If Denied, Yes Date:
2002	Wireline Log Received
tary Public: GERALD W. HEIM	Geologist Report Received UIC Distribution
te Commission Expires: My Appt. Exp. April 28,2014	

Operator Name:R	ONS OIL OPER	ATIONS, INC.	Le	ase Name:	COLLEGE	24	Well #:	A-1	,
Sec. 24 Twp	9 S. R. <u>24</u>	☐ East 🖾 Wes		unty:		•			
INSTRUCTIONS: S tested, time tool ope temperature, fluid re Electric Wireline Log	covery, and flow rate	g and snut-in pressu s if gas to surface te	res, whethe est, along w	er shut-in ne	hadaear aruzza	static level hydr	actatic areas.	bakkam bala	
Drill Stem Tests Take	(Sheets)	⊠ Yes □ N	0	KX	Log Formati	on (Top), Depth	and Datum	Sample	
Samples Sent to Ge	Nograt Report ological Survey	☐ Yes ☐ N	0	Nan	· -	•	Тор	Datum	
Cores Taken		Yes ⊠ N	0	1	hydrite		2083	+364	
Electric Log Run		🗵 Yes 🗌 N	0		peka ebner		3524 3738	-1277 -1291	
(Submit Copy)					ronto		3764	-1317	
List Ali E. Logs Run:	ra Log			LK BK			3777 3998	-1330 -1551	
						,			
		CASI Report all strings	ING RECOR			ion oto			
Purpose of String	Size Hole	Size Casing	1	Veignt	Setting Setting	Type of	# Sacis	Type and Perce	
SURFACE	12 1/4	Set (In O.D.) 8 5/8	20	bs. / Ft.	Depth 258	Cement 60/40	Used 165	Additives 3% Gel	
PRODUCTION	7 7/8	5 1/2	#1		4008	POZ MIX Common	175	2% CC 2% Ge1	
- ROBOOTION	, ,, ,	3 1/2	#1		1000	Common	173		
		ADDITIO	VAL CEMEN	ITING / SOL	JEEZE RECORD			<u> </u>	
Purpose:	Depth	Type of Cement		cks Used	PELZE NEGOND		ercent Additives		
Perforate XXProtect Casing Plug Back TD	Top Bottom 0 - 2202	60/40 PO2	7. 4	420 3% Ge1 2% CC			·		
Plug Off Zone					0.0 001	270 00		7	
	PERFORATIO	N DECORD DATE					~		
Shots Per Foot PERFORATION RECORD - Bridge Plugs Set/Type Specify Footage of Each Interval Perforated			Acid, Fracture, Shot, Cement Squeeze Record (Amount and Kind of Material Used) Depth				1		
4	4 3953-3955				300 gallons 15% mud				
4 3931-3934			300 gallons 15% mud						
4	4 3909-3913			300 gallons 15% mud					
4 3814-3818			300 ga1	lons 15%	mud				
4	3807-3809				300 ga1	lons 15%	mud		
TUBING RECORD	Size 2 3/8	Set At 3986 '	Packer	r At	Liner Run	Yes XX No			
Date of First, Resumerd	Production, SWD or En	·····	Method						\dashv
04-15				Flowing	1222	Gas Lift	Othe	r (Explain)	
Estimated Production Per 24 Hours	Oit B 40	bis. Gas	Mcf	Water	20	s. Ga	as-Oil Ratio	Gravity 36	
Disposition of Gas	METHOD OF CO	MPLETION			Production Interv	al	, , , , , , , , , , , , , , , , , , , 		
Vented Sold	XX Used on Lease	Open Ho		orf. 🔲 Du	ually Comp. X	Commingled	All peri	s above	<u> </u>
CAN CO		•			•	:		-	

CEMENTING CO., INC.

RU 41L, p. 67665 PH (785) 483-3887 FAX (785) 483-5566

..ORIGINAL

INVOICE

Invoice Number: 086820

Invoice Date: 03/27/02

RECEIVED KANSAS CORPORATION COMMISSION

SEP 0 3 2002

CONSERVATION DIVISION
WICHITA, KS

Cust I.D....: Ron's

P.O. Number..: College 24 A-1

P.O. Date...: 03/27/02

Sold Ron's Oil Operations, Inc

To: 1889 200th Ave. Penokee, KS

67659-2**0**36

Due Date.: 04/26/02 Terms...: Net 30-

Item I.D./Desc.	. Qty. Used	······································	···Price		TX
Common	99.00	SKS	6.6500	658.35	E
Pozmix	66.00	SKS	3.5500	234.30	E
Gel	3.00	SKS	10.0000	30.00	E
Chloride	5.00	SKS	30.0000	150.00	E
Handling	173.00	SKS	1.1000	190.30	E
Mileage (55) 173 sks @\$.04 p	55.00 Der sk per mi	MILE	6.9200	380.60	E
Surface	1.00	JOB	520.0000	520.00	E
Mileage pmp trk	55.00	MILE	3.0000	165.00	E
Wooden plug	1.00	EACH	45.0000	45.00	E
All Prices Are Net, Payable 30 Days Following Subtotal: Date of Invoice. 1 1/2% Charged Thereafter. Tax:				2373.55 0.00	
If Account CURRENT take Discount of \$ 237.36 Payments:				0.00	
	nin 30 days from Invo		al:	2373.55	

Od 15.02 93 01 1294 A 2136.19

ALLIED CEMENTING CO., INC.

P.O. BOX 37 RUSSELC, 5 67665 PH-(785) 483-3887 FAX (785) 483-5566

Sold

ORIGINAL

INVOICE

Invoice Number: 086867

Invoice Date: 03/31/02

RECEIVED

KANSAS CORPORATION COMMISCION

SEP 0 3 2002

CONSERVATION DIVISION WICHITA, KS

Ron's Oil Operations, Inc

To: 1889 200th Ave.

Penokee, KS 67659-2036

Cust I.D....: Ron's

P.O. Number..: College A-1

P.O. Date...: 03/31/02

Due Date.: 04/30/02 Terms...: Net 30 m

Item-I.D:/Desc:	~ Qty. ∙ Used w me • re-week way.	v thit	Price		TX
Common	240.00	SKS	6.6500	1596.00	E
Pozmix	160.00	SKS	3.5500	568.00	E
Gel	20.00	SKS	10.0000	200.00	E
FloSeal	100.00	LBS	1.4000	140.00	E
Handling	420.00	SKS	1.1000	462.00	E
Mielage (55)	55.00	MILE	16.8000	924.00	E
420 sks @\$.04	per sk per mi				_
Top Stage	1.00	JOB	650.0000	650.00	E
Date of Invoice. If Account CURRE	et, Payable 30 Days Fol l 1/2% Charged Thereaf NT take Discount of \$ <u>~</u> hin 30 days from Invoice	ter. Tax.	cotal: : ments: al:	4540.00 0.00 0.00 4540.00 45400 4076,00	

EMENTING CO., INC.

4LL, KS 67665 PH (785) 483-3887 FAX (785) 483-5566

INVOICE

Invoice Number: 086866

Invoice Date: 03/31/02

RECEIVED KANSAS CORPORATION COMMISSION

SEP 0 3 2002

CONSERVATION DIVISION WICHITA, KS

Sold Ron's Oil Operations, Inc

To: 1889 200th Ave.

Penokee, KS 67659-2036

Cust I.D....: Ron's

P.O. Number..: College A-1 P.O. Date...: 03/31/02

Due Date.: 04/30/02 Terms...: Net 30

Item I.D./Desc.	Qty. Used may a second of	resident Unit	Price		TX
ASC	175.00	SKS	8.5000	1487.50	E
Gel	3.00	SKS	10.0000	30.00	E
WFR-2	500.00	GAL	1.0000	500.00	Ε
Handling	187.00	SKS	1.1000	205.70	E
Mileage (55)	55.00	MILE	7.4800	411.40	Ε
187 sks @\$.04	per sk per mi				
Bottom Stage	1.00	JOB	1130.0000	1130.00	E
Mileage pmp trk	55.00	MILE	3.0000	165.00	E
Guide Shoe	1.00	EACH	150.0000	150.00	E
AFU Insert	1.00	EACH	235.0000	235.00	E
Centralizers	9.00	EACH	50.0000	450.00	E
Baskets	3.00	EACH	128.0000	384.00	E
DV Tool	1.00	EACH	3300.0000	3300.00	E
All Prices Are N	8448.60				
Date of Invoice. 1 1/2% Charged Thereafter.			:	0.00	
	NT take Discount of \$_		ments:	0.00	
ONLY if paid wit	hin 30 days from Invoi	lce Date Tot	al:	8448.60	
				844.86	
				7603.74	